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International Obfuscated C Code Contest

2012/endoh1/endohl.c

2012/endoh1/column. txt

2014/deak/prog.c

# include<stdio.h>// Fluid- #
# include <unistd.h> _Sim!_ #
# include<complex.h> 10CCC-  #
# define 2012/* #
# x/-1>x winner #
# define for(/x #
# x/p=a; p+=6)// #
# define f(p,p/* #
## */[i]=e)f(q,w=cabs w)plil+=wx/// ##
double complex a int x,y;char b/x ##
## */[6856]="\x1b[2l" int main  O{/** ##
## */for( >10732< x?4[/* ##
## /T ++ r+=9:0 Ju-I/* ##
## x/: (x= 4){z(p [1] %/ ##
## x/9,2) *P+p[4 J*V-/% ##
## */q[4] +(x=x *I)+/*% ##
## */80% ( *1p[1]) )x=0/* ##
## */ <=x ,t]1=4,t+=80]=1/% ##
## *x/, xt "\\/\x23\n" [x/** ##
## */180- 97x[b] 16],,usleep( 12321) ;}return 0;}/* ##
it it
/
2004/arachnid.c
#include <ncurses.h>/: /
int m[256 1L 256 1,a
»b 33 WINDOW*w; char*l="" "\176qx1" g g e o\
a g win wyn g npn Jat
= "pt!ftd " "qdc“eu" "dq!$c!nnwf"/*x w* */"t\040\t”,c(
int  u, in
1] 1=2,m[u] [v-1] & 487W][v 1 1 & 1511):0:0; u7m[u —1][v]\ 1 ,m[
u- 1 vlg 487 v &
15] 1):0:0;v< 255 7m[ u] [v+111=8, m[u][v+1]& 48? Wil v+1]&15I
He m[ u+l I=
4, m[u+1][ v]&487w+1] [v]&lS]]) 0:0;W1L v]& 151 1); }cu(chat*q){ return
*q 7cu (gt D& 17q () H
ql0  1-- i1 }d( int  u , int/#*x/v,  int/**/x, int y){ int
Y=y -v, -u;  int S,s  ;¥< 07Y
s=-  1:(  s=1);X<07X=-X,S§ =-1 :(8= 1); Y<<= ; 1f(X>Y){
int  f=Y (X >»>1 0 ); 01
f>=  07v+=s,f-=X:0;u +=S ;f+= Y; m[u][v]| =32; mvwaddch(w v ,u, mlu
10 vie 647 60: 46) if ([ Wl
v](&lG){c(u sV) s , , ; return;}} }else{mt £=X —(‘{>>1) 55 while
v >=0 =
;v o+=s G E+EX; m[u] vll= 32; mvuaddch(u v ,u m[u] [v]&64‘?60 46) ;if (m[u
1C vlg 16)  {e(
, return,,,}}}}z( mt/u/a, int  b){ }e( Jnt/**/y int/**/ x){
i fo: (i= =a
+S 1++)d(y X,1i,b) d(y X, 1 b+L) for(1 b;i<=b+L; 1++)d(y x a i),d(y, x, a+ S i
mvwaddch(w . 64) HE ;;; 335 prefresh( w,b,a,0,0 ,Lf 1,?71
H ch: *C
1 O{FILExE= fopen(v—— 7"arachn1d c"/xx/ :c[ 1]," ") jint/*x/x,y,c
v=0 inits O3 2(z (raw
O ,2(  curs_set(0), Z(1 ,noecho()))),keypad( stdscr,TRUE)) ;w —neupad
(300, 300 ) ;  for (x= 285 ; x >=0 ;x-
265  ;y>=0;y-- Jm[ x]J[ yl= 0;x=y=l 0 refresh( );while
fgetc (f) )+1) (

if
else{m(x] [yl=(c ==
?0: 16 53
[x][0]l=16  ,m[ x][
v m[0 y 1= f
ja=b=c=0; x=y =1;  do{v++;mvwaddch (w, y.x  ,m[
327 mlx la 167
0 acs map[l[m[x][y]&15]] 46 E 32) ;c= 0163&&I(m[x][y+1]&16>?y++ O;c
119

256) {x=0;y++;if (y==256 )break;;}
==32 20:

c ++;
}¥for (x=0 jx< 256;x+0)m 255]=16; for (y=0
256 ++ 16

m[255] [yl =15
x]1[

- 1]&  16) 7y-— 053¢ ==97 &t (mlx-1][y]&16)7x--:0;c= 100&&‘(m[x+1
i’[ yl&  16) 2% 4410 if( c==
3— 1+1 ){endwin( );;  return(0)  ;}x -a<57a>S- 57a-=5-5: (a= 0)

-a> S-57a<265  -8x 7a +=8
y-b<5?b>L-57b-=L-5: (b -0) :0; -b>L 57b<255-L *2?

-5 (a=256-S):0;
b=

:( 256
-L)  :0;e(x,y);if (m[x] [y]&64)break; }uhlle((c—getch())'—*l) endwin0);cu(@);
printf(Q,v); }

#include <stdio.h>
[¢)

#define _ 0

#define __$() 1

#define _$_() 10

#define $_$(a) a;

#define $_(b,a) at#tb

#define r(a,b) ri#atttbi#urn 0;

#define m(b,a,x) }; m##a##bi#n

#define $(b,a,x) a##biix

#define e+

#define $_$_

#define __(...) $(n,i, t))(\

$(Ze,51,of)(($(n 1 ,8)[1) { _$O, ##__VA_ARGS_ })/$(ze si,of) ($(n, 1 t))*__$())
$(n,i,8) (+__) ($(n,i,t)) = $(tch, pu, ar); $(ub,do,le) _<i:> $5. <l

, 1.3 /% <-- Configure here: X1, X2, Y1, Y2 %/
_$ () ,( $_0
Y

i (‘,',',’ T )
2,0 Bn1,6) $)<% 80
>0 $_01 ) [$_O____

D1 >0 8.0+ _

)] 1oy D;
I+ ){m(1 2, C_8() 38287 CII8.0
$ $_ _80) $,(f,1)(

+
/* 10CCC 2014*/ >

2015/mills2/prog.c

#define P(a,b,c) a##bittc
#include/*++**++%/<curses.h>

int c, V,X,Y,S, i,b; int
main 0 A1 initscr( ); P(cb,
rea, K0 311/
P(n, oec, ho) (
)/* */ ;for (curs_set(0); s= x=COLS/2
5 PC flu, shi, np) [O)2¢ tlmeout(y c= v=0);///
P(c, lea, [9X0] (P (
mva, d, dstr 3+x,
Q) ; ; PC eep, YN/
P(m, vad, )y >>8,x,//
" "); for(i=LINES; /* -0
;5 mvinsch(i,0,0>("cli-h-H )7
s(i- hlh- <07'|" =)
if (( i=(y getch( )>07I:v+
A)>>8)>=LINES| |mvinch(ix 0<1 e
'=mvinch(i,3+x))break/*&} &*/, mvaddstr (y
>>8, x,0>v ); i=--s
/=W P, vpr, intw) (0,
CDLS 9," Yu/fu ", (0<i)* i,b=b<i?i:

b); refresh(); if (++ ==D
-=W; h=rand()%(LINES-H- 6
)42; } } flashO; 3}

2015/mills2/prog.c

int I=266,1,c, 0,0=3; void e(
int L){ 0=0; for( 1=8; L>>++1&&
o= 1

1)
*L-(1<<1- 1), {5}
pread(3,4L,3,040/8)<

*/exit (0); L>>= T&0;
<<1; L>>87256-L%e(
sell
=L),

) (0
+=(-I&7) ¥1+0+1>>3,I=L) : putchar(
L); }int main(int 1,charxxo){

for(
/% 1111 */
ogin(l[o],o); 5 e(I++

a(X O b KON b B B3¢

=bx; int by,He255, bzeH<<s JbA =bz  <<B,bB= bA<<E,

B0=bp(5)

J1=bp(2),e=bp(3),h  =bp (4); M=

oxtrif % bie(ehare) ) { HebB; bz =bA; bA =bz>38;

bB=255 i ) UesDL_Setiidechode(k1,0,0);  V=/=1ES HISTORY

SANDRO «/ sL CresteRGBSurtace(t <15 L 16, M 32,1,z

JbA,bB); fread(V->  pixels,bC+bD4,1,fopen(T [7], 3); SDL_ upe..Audmu

bu,0); SDL_LoadéAV  (T[8] & by, 85,40 3; /++/  SDL_Pausehudio(0);

for(; ; ) int uls  1,+1; B =0 i while  (H < 6) scanf(/+0%/

W) § bulsl<  O)break 3 I-ba(

wibta 34 q s+ m =0 1; neu(1l;
Yrfor Gl while/+  IMAFFI0 0.5+/(

SDL.PolLEvent (468 ) { by= bE.type  ==3; b10 kk(byl| bE.

type==2)){ T key/ss/ keysym .sym; b I== 276)r=

by?0: (p=-1); b I== 275 )r= by?0:(p  =1); b I==32)by?

0: (67 (5=-9) ¢

prog.c

#include /+!ITAB=414/<stdio.h>

#include /+{{I0CCC2}}*/<SDL.h>

#define b/+({I0CCC257}1x/ if (

#define a(b, ©) for (
b,

i /+I00CC/2014%/b<d; bb+,c)

el
.0
X
=ulol; y=ult
1; Heu N
1 A=C 3
5%/ return
05} Y O 0-50; x= 0 t=1
Yz \m, n,0)/+%/ £ /os/ ;
return WO &4B8E (me x+ibhm <
yHiREx<TiLE 5 } intsbalintsu){ int X
L #bb=C; alX, =1;
=bb +1; Heg; :
N N
E E

s
*/return bb; } } return 0; } be(e){ ql2]=e; } bd
(be,bf){ int X,bg; mb=be; ne=bf; I=e

-i; mem<070: @I?I:m); a(X,0{ b Z(X
o)) { bgeBk; b Diabg) continue;
-1 be(®); b Bnaz)(

Glbi)-m>e-H? x
e: (moH7H-m:0 )i} by(K,be b6 dnt bk f
[0)+=be; ult Je=bt; WOO; E=x,F=y, 1=0; a
bk, 0){ b I=(X!=bkZ(bk,E,F, i)k (BES )
Ybreak; } W(X); b DY b bful]-=bt; b
ula)w=-1ebe; ¥ } W X); b
1Rect(U,0,}0); X=4; while( X

)bd(0,8); b WhEEIOY ()
Bh(n,e,k,0); bh(n,h,1
5 b BED{ *u +=ul:

+oul61>20){ uld)em
%274:0; 3 J a
)zt (K12
i 33 b qr=ul |t ok
bn={ z,4,1,3} ,bo=

2+=p<07104:0
e s

{ GloJ+x, 60114y, 5,
J}; SDL_BlitSurface V,ub0,0,200);  }

} bls+=2)>2)8=2; K
bi-- 0) exit(L); }
0); } bqGint H ,
i b ht)bs) bt= bs;

43 D-=D71:0; b 0)

bp(X){ return strtol
int#br,int bs ){ int bt;
SDL_MixAudio(br,S +P,bt,
} SDL_AudioSpec bu={5000
main(int bw,chars*bx){ T

SDL_Event.

/8 k = bp(1)
bp(9); /++/  SDL_Init(/+<2053"/

0); b I==2T)exit(0); } } b10); SDL_Flip(U); SDL_Delay(60); } }
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2000/dhyang.c

aku

#define/**/X
char*d="X0[!4cM, ! "
"4cK *!4cIc(14cHgk!4c$j"
"8f'1&~]9e) ! " | :d+!)rAc- xm*"
":d/'4c(b4e0!1r2e2! /t0ed!-y-c6!"
"+|,c6!)f$b(h*c6! (d'b(i)d5! (bxa'~&c"
")c5!'b+ &b'c)c4!&b-_$c'd*c3!&a.h'd+"
"d1!%a/g'e+e0!%b-g(d.d/ ' &c*h'd1d-! (d%g)"
"d4d+!%1,d7d)!,h-d;c'!.b0c>d%!A Dc$! [7)35E"
"1'1cA,, ! 2kE *!-s@d (! (k(f//gk!)f.e5'f(!+a+)"
£92g*17£5F, e/1<d6e119e0" £316£)-g5!4d*b"
"+e610£%k)d7 !+~ "' c7!)z/d-+! 'n%a0(d5!%cla+/d4"
"12)c9e2!9b;el!8b>e/! 7cAd-!5fAe+!7fBe(!"
"8hBdk!:iAd$! [7S,Q0'1 bF 7!1b?'_6!1c, 8b4"
"12b¥a, *d312n4£21${4

char*d=")35E! '1cA,
"6el!9e0'£3!6£)-g"
"12)c9e2!9b;el!8b"
_6!1c,8b4!2"
“d9'4c a'd: '/J(' "
"$dAcQ!$cBc@! $b<""

,I"U2KET *1-s@d (! (k(£//g&!)f.e5'f (! +a+) £2g*! 7£58,
"514d*b+e6!0£f%k)d7!+~ " 'c7!)z/d-+! 'n%a0(d5!
">e/!7cAd-!5fAe+!7fBe (!8hBd&! 1Ad$‘[7S Q"
"b*a,*d3!2ndf2!${4f. " !y ! d7t4an
"&d 1+1'a+d<!)1*b(d=!'m-a&d>'&d'"0_&c"

"&d$”: 1$d9_&1++"$17£3"
"$1&f/c(o/ %! (f+c)g*clh
"s&!-n,d)n(!0i- c-k)‘3d/"
"7XO[!4cM, 14cK™ *!4cIc(14cHgk!4"
"] id+!) " A '*m*:d/!4c(b4e0!1r"
"h*c6" (d'b(i)d5! (b*a'"
d*c3!&a.h'd+d"
'd1d-! (d%g)"

" xfga"
"bOh*!H™ "

"d4d+1#1,d7d) !, h-"

">d%!A Dc$" "1 [7%i] 5471 [=ohr&ox"

"Hyv*r; 027" "*“=h./}tcrsth&t:r9"
"b].,b" "- t--/ "/#r [<t8-7527937<
"5b! "537-r" "[/9 X.v90<6/<.v

"{cjuck "
q ”{CJuC&l]q’ H 1ql
"vsru.i" "=),BihY_gha,)" "",0[3217];
int i, T, ,£,b,p, +=641,%;0() {return r<v?d [(*
d+143+(r ++))%t] > +1341759: (x=d [(r++-t) %351+t
)?7x" (p?76:0 ):(p=+34);} main() {w=sprintf (o, "char" "rd="
) ;r=p=0;for( f=1;f<*d+143;) if ((b=d [£++])-33){if (b<+93){ if (

lp)o ] =34;for (i= 35+(p70 1);i <b;i++)o[w++]=n();o[w++]=p?n():+34 3}
else for(i= 92 i<b;i++)o[w++]1=32;}else ol[w++]1=10;0[w]=0;puts(o);};/*Don_ Yang*/

soku

char*d="S,Q0!1bF7!1b?'_""6!1c,8b4!2b*a,*d3" " 12n4£2!${4f . ' ! %ydeb!&E)d="=d7 4c+"
9I4c—a‘d~!/1(" W gd; 141 atd<!) 1xb(d=! 'm-akd>""1&d" " 0_&

1$d9_g1++°$!%f3a'n1_$!&f/c(o/

"+£$s&!-n,d)n(!0i-c-k) !3d/bOh"

"[7xo" A cM, 14cK™""*!4cJc (! 4cH"
"'4c$ " "8f' 14~]19e)" I: d+')rAc Pamx: g/ "4c(b"
”4e0'1r2" "e2!/t0e""4!-y-" "c"6l+],c6!)f$b(h" "*c6! (d"
"'b(i)d5! (b*a' &c)cb! 'b+ &b'" "c)c4!&b-_$c'd*c3!" "ga.h' d+d"

"11%a/g' e+e0!%b-g(d.d/ 1 &cx" "h'd1d-!(d""%g)ddd" "41%1,d7d)

"h-d;c'!.b0c>d%!A De§! [7)" ”35E"1cA,,!2kE H ”s@d('(k(f//g&
"I)f.e5'£(I+a+) £h2gK! 7" '£5¢ *e/1M1<d6" "e119¢0'£316£)—g"
"514dxb+e6 ! 0£%k)d7 ! " z/d-+1" " 'n%a0(d5 ! %cla+/dd"

"12)c9e2!9b;e1!8b"
"d$! [7*i]5471" "

—15£A"
hrg"

"e+!7fBe(!8hBdg! :iA"
"oxtkq T kdryHT; 027* "

"rst" "h&t rob].
" [<t8-752793"
" “[/97X.v90<6/" < v;
"ohr™ .ix$engt$"
".d; b]‘——[/+55/""}o .d"
7 --/ilq--[; h "

ilq—-[; 5d- {cJu" ,BihY_g
“ha )“,0[3217] int i, £,u,8,b,p,t=641,x; n(){return r< t7af(sd+143
+(r++)3%t) sT>+13417 59:(x=d%(r++7t)%351+t])?x’(p?sz 0): (p=+34
);main() {w=sprintf (o ,"char""*d=") ;r=p=0; for (f=1;f<*d +143;)

if ((b=d[£++])-33) {if (b <+93){if (!p)o[w++]=34;for (i=35
1);i<b;i++)olwt+]=n();0l w++]=p?n() :+34;}else for(
ji++)o[u++]1=32;}else ol[w++]1=10;0[wl=0;puts(o);};/+Don_Yang*/;;;

san

d714c+b)d9!4c-a 'd
+1'a+d<!)1xb(d=!' m- a &d>'&d
&c7!$dAc@!$cBcC!$ b < cgd$t"
:18d9_gl++°§1%£3a’  nl _ $ ra"
"f/c(o/ %t (f+c)g*c Al * £ &d+"
"£$s&!-n,d)n(!0i- c- k) 1o3d"
il 5 4 71"
*v *r ;02"
at : r 9"
#r [ < t8-"
1. to—tr / # 53"
k  goh"
$ L
: b=
55/ Yo"
v/ilq ~
0353~ "
d =o"
/ et
< o
. 0 H
Ja ::
;6 / =
"f) BihY. gha O\O s ol
3217]int i, T,W,f ) b ,x
pinOfreturn r <X X X X X
7687d[x(143+ X T+ + *d ) %
768]:1>2659 7 59: ( x = d
[(x++-768)% X 947 + 7681 )7
= 34 X X)
n O ( . (
n O ) ;return x H ?
void/*#/main X O 1 = p
=0;w=sprintf (X X X X X X o
,"charxd="); for ( f=13f < *d
+143;)i£(33°( b=d L £+ X 1)
it (b<93){if  X(! P ) o
[w++1=34;for X3 = 35 +
(p?0:1) ;i<b; i++ ) °
[w++]=s ;0 W ]
=p?s():34;} else X
{for(i=92; i<b; i
++)o[wt+]= 32;} ¥
else o [w++ 1
=10;0 t
wi=o
puts(o); }
2001/cheong.c

#include <stdio.h>

int 1;int main(int o,char **0,
int I){char c,*D=0[1];if (0>0){
for(1=0;D[1 1;D[1

++]-=10){D [1++]-=120;D[1]-=
110;while ('main(0,0,1))D[1]
+= 20; putchar((D[1]1+1032)
/20 ) ; tputchar (10) ; Yelseq{

c=o+ (D[I]1+82)%10-(I>1/2)*
(D[I-1+I]1+72)/10-9;D[I]+=I<070
: 1 (o=main(c/10,0,I-1))*((c+999
)%10-(D[1]1+92)%10) ; }return o;}

1988/phillipps.c

main(t,_,a )
char

*
a;

return!
0<t?
t<37

main(-79,-13,a+
main(-87,1-_,
main(-86, 0, a+l )
+a)):

i,

t<_?
main( t+1,

_,a)

main ( -94
&&t ==
<13 7

—27+t, a)

main ( 2, _+1, "%s %d %d\n" )
:9:16:

t<0?

t<-727

main( _

"en'+,#' /*{}w+/w~cdnt/+ {Yr/*de}+, /*{x+, /u{l+, /wtq#n+, /#{1,+, /n{n+, /+in+, /#; #qiint, "

v/ +k#;x+, /T
# i) O )(){nl] /+#n' ;d}rw! i# ) nin#';
{n1] ' /witq#n'wk nw' iwk{KK{n1] ! /wl0 Lartt' i;

"{nl ={}rwl '/+,H# *}Hnc, ' #nw] ' /+kd'+e}+;# 'rdg#w! nr'/ ') }+}r1¥ {n’

puvenar(31lal):

main(-65,_,a+1)

ﬁain((*a = '/ +t, _,a+1)
0<t?
main ( 2, 2, "%s")
sxa=='/"]|
main(0,

main(-61,*a, "!ek;dc i@bK'(q)-[w]*%n+r3#1,{}:\nuwloca-0;

,at1);}

;m

'd* '3, Hw+K w'K:'+}e#' ;d #'+d K#! /+k#t;q# " r}eKK#}u r}eKK{nl]'/#;"
%nl] ? r{#w'r nc{nl] '/#{1,+'K {rw'
{n1]" /*{q#'1d;r 'Halwb!/*de}'c

1K{"
D# }'+}##("/“)

.vpbks, fxntdCeghiry")

char*d="X0[!4cM,""14cK" *!4cJc(!4cHgt!4c$j8f ' 1&~]9e)! "' | :d+!)rAc Ukmx:d/ 14c (b"
"4e0!1r2e2!/t0" "e4!-y-c6!+|,c6!)E$b(h*c6!(d'b(i)d5""! (b*a'"&c)c5! b+ &b"
"'c)ca!léb-_$c'" "d*c3!&a.h'd+d1!%a/g'e+e0!%b" "-g (" "d.d/!&cxh'did-! (A"

"g)d4d+!*1,d7d" ")!,h-d;c"" b0c>d%!A Dc$! [7)3" "5E"1cA,,!2kE‘*!"
"-s@d (! (k(£//g&" "1)f.eb" £(1+at) " £ 2gx 1" "7£5f -xe/1<d"
6e1!9e0'£3!6£)" 514dxb+e6!0f7k" ")d7'+ tc7)z/"
"d-+!'n%a0(d5!%c1" "a+/d4!2)c9""e2!"
"b;el!8b>e/!7ch "15fAe+!7fBe(!8hBd"
e R "1Ad$'[7S " "b?'_6!1c,8b4!2b%*a,*"

"QO!1bF7!1"
"fd-"" "-d7‘4c+b)d9'4c a'd: I/"

"+~ $1%£3a'nl_$!&f/c(o/_

q "£$s&!-n,d)n(!0i-c-k)!3d/

"HOR* ! " "H7a, 1" 15471 [=ohr&oxtxqk" *xdvxr; "

"o27" "*”=h./}tc" "rs" "th&t:r9b] . ,b-725-.t-~//#r["
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i*$en " ;
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q--[ v9h /<= 52 {cju"

.05 q "-[;54={""cjuckil n
[;7 50 al; "sTu" " 1/={=),BihY_"
"a,)",0[3217] sint i ,T,%,f,b,p,t=
{return r <t?d[(* d+143+(r
1341 ?59: (x=d[
51+t]1) 7x ~(p?6

)
){w=sprintf (o, "char""kd=" ); ;for
*d+143;)if ((b=d[f ++])-33){if (b <+93){if ('p)o[
for(i=: 35+(p70 1);i<bji++)olw++]=n() ;o[ wt+]=p?n() : +34;}else
<b;i+t)olw+]=32;Felse olw++]1=10;0[ul=0; ;puts(o);};/*Don_ Yang*/;;;;;;;;;;,,,,,

1988/phillipps.out

Spigot algorithm

#include <stdio.h>

a[52514],b,c=52514,d,e,f=1e4,g,h;main () {for (;b=c-=14;h=printf ("%04d"

,e+d/f))for(e=dY=f;g=--b*2;d/=g)d=d*b+f*(h?a[b] :£/5) ,albl=d%
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On the first day of Christmas my true love gave to me
a partridge in a pear tree.

On the second day of Christmas my true love gave to me
two turtle doves
and a partridge in a pear tree.

On the third day of Christmas my true love gave to me
three french hens, two turtle doves
and a partridge in a pear tree.

On the fourth day of Christmas my true love gave to me
four calling birds, three french hens, two turtle doves
and a partridge in a pear tree.

On the fifth day of Christmas my true love gave to me
five gold rings;

four calling birds, three french hens, two turtle doves
and a partridge in a pear tree.

On the sixth day of Christmas my true love gave to me
six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves
and a partridge in a pear tree.

On the seventh day of Christmas my true love gave to me
seven swans a-swimming,

six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves
and a partridge in a pear tree.

On the eighth day of Christmas my true love gave to me
eight maids a-milking, seven swans a-swimming,

six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves
and a partridge in a pear tree.

On the ninth day of Christmas my true love gave to me

nine ladies dancing, eight maids a-milking, seven swans a-swimming,
six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves

and a partridge in a pear tree.

On the tenth day of Christmas my true love gave to me

ten lords a-leaping,

nine ladies dancing, eight maids a-milking, seven swans a-swimming,
six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves

and a partridge in a pear tree.

On the eleventh day of Christmas my true love gave to me

eleven pipers piping, ten lords a-leaping,

nine ladies dancing, eight maids a-milking, seven swans a-swimming,
six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves

and a partridge in a pear tree.

On the twelfth day of Christmas my true love gave to me
twelve drummers drumming, eleven pipers piping, ten lords a-leaping,
nine ladies dancing, eight maids a-milking, seven swans a-swimming,
six geese a-laying, five gold rings;

four calling birds, three french hens, two turtle doves

and a partridge in a pear tree.
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